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BECS-184 : DATA ANALYSIS

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from each Section as

directed.

Section—A
Note : Answer any two questions from this

Section.

1. Define the term ‘quantitative research’.
What its key attributes ? Explain in detail
various data collection tools for quantitative

research. 5+5+10

P.T.O.
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2. There are 40 plants in the garden. Seven plants

were selected randomly and their heights

(in cm) were recorded as follows :

Plants Serial No. Height (in cm)

1 52
35
25
45
55
20
13

N O Ot B~ W D

(a)

(b)

(b)

(c)

Calculate the mean and standard deviation

of their heights based on the given sample.
15

Draw a histogram. 5

Discuss the term ‘measures of dispersion’.5
Explain various absolute and relative
measures of dispersion. 10

Which measure of dispersion ensures

highest degree of reliability and why ? 5

4. Discuss the term ‘non-sampling errors’. Explain

the different types of non-sampling errors that

arise iIn an enquiry. 5+15
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Section—B

Note : Answer any five questions from this Section.

5. What are Type I and Type II errors in

hypothesis testing ? Which one of these is the

most critical and why ? Explain. 12

6. Distinguish between the following : 3x4=12

(a)
(b)
(©

7. (a)

(b)

(©

Cross-section data and Panel data.

Null hypothesis and Alternative hypothesis
Descriptive  statistics and Inferential
statistics

What is bivariate analysis ? 3
What 1s the relationship between
correlation and causation ? Elaborate. 3

What are the conditions under which Z-test

and ¢-test are used ? 6

Define the term ‘kurtosis’ and explain
different measures of kurtosis with the

help of a diagram. 6

P.T.O.



(b)
9. (a)
(b)
10. (a)

(b)
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How do skewness and kurtosis determine

the shape of a distribution ? 6

Define the term ‘ANOVA’ and explain its

usage. 6
What is the difference between ANOVA
and MANOVA ? 6
Discuss the concept of ‘Participant

observation’. What are the advantages and

disadvantages of participant observation ?6

How does non-participant observation
remove the drawbacks of participant

observation ? 6

11. Write short notes on any three of the following :

()
(b)
(c)
(d)

3x4=12
Degrees of Freedom
Coefficient of Determination
Focus Group Discussion (FGDs)
Grounded Theory
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1 P 1 e A | e =
&t U g 9w
qAta gdreT
S, 2023
o136 UH.-184 : 3RSl ol favermor

gag : 3 HyU2 R dH 37F : 100

qie : J&® @ue 9 37 T FREIgER T % W
gifral

Yug—ch
T : 39 GUS G fh=al I g9 % I U
1. RETHs  (FEES) MY U i gRefud

ST k! yq@ fagmad =1 8 ? Hqeads

Ty & fou fafa= e dwem @Al i

fordR @ 9H=ET| 5+5+10

P.T.O.
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2. T W™ W 40 qY gl W@ del a1 agfesd
®9 W @ fEA T IR ST o
(HaHer ¥) 39 YhR 9 Bl TS

TS

Qe 1 HH GE&A (e )

52
35
25
45
55
20
13

<1 O Ot W DN

(31)feu gu gfaeel & YR W 3T a=E &
e 3R HHek faded &1 AT w15

(9) T AFAras IMRad sifs| 5

3. (37)'srufeweor & A’ 95 &t fag=m sifsw) 5
() sraferor & fafr= FRder iR wmder A@mal =1
ST STy 10

(F) TUfRTOl 1 HHA-T A9 fovediaar &1

Seaan hife GHATed e € IR = 2 5
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4, ‘“R-yiaeet I’ wg # ==l wifw T S o
S B arelt fafi= wer w1 R-wfaeet qfes

1 AT Hifad| 5+15

q—
e : 3@ 99 ° 9 forgl ufer 9o & S s

5. Weh Ufteheddl qderr o 2Eu-1 3R -1 feat
M E ? W Y hH-d fe mewEyel € 3R

w7 qAAEU 12
6. Tr=fafad ¥ s =ifa . 3x4=12
(1) T e R Helh GUE Hhg
(9) Y TS dehfeqd IRamed
(9) faerumers wiferst ik frswuicres
qiftereht
7. (31) fgar ferearoor @ 2 2 3
(9) HeGeY 3R HONT HaY & &9 b gay
g ? fomnyd® waEy) 3
(M - feafadl & o9 z-wdam @ik
t-qeTor fohar S © 2 6

P.T.O.



10.

11.
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(31) 'z’ W w1 uRgm ST iR ww
M@ &1 @Al ¥ hepadl & fafg= Al

HI A HifS4| 6
(@) v (foomar) iR FeEa TF faaor &
AR HI HY Fuifg & 2 2 6
(31) T (ANOVA) I3 i gRenfid wifsw &k
TH%h WA TR i) 6
(9) T (ANOVA) 3R TH THen (MANOVA)
q e E ? 6

(3) FEURT  3ATciohd  @hi  STOYROT i 9=
HITST| T STecliohd & ¥ 3 it

T ? 6
() IR-TEurll  Sfeciieh, HEWrll Sfeciieh i
HE w1 fFE YR T FAT T ? 6
Frefafed § § frel A W Sl frmE
HITT 3X4=12
(F) @M= Hife
(@) fefor Tories
(1) &= 98 == (FGDs)
(9) T=8E Al
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